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Hint:  Some answers are given in John Smith's Examples 1 and 2 in Book 1.    Also see the Review Questions and Answers in  Book 1 and the Vanilla Swap examples in Book 3 of in Jensen’s ToolBooks.

13.  Although it is not common, why would Counter-Party 1 agree to pay $1 million up-front in order to enter into Swap 1a?   On the other hand, why might Counter-Party 1 refuse the Swap 1a deal?

14.  On April 1, Year 1 after Swap 1 is in effect, under what circumstances will the aggregate cash flows from termination or reversal swaps be the best decision in hindsight.  Ignore time value of money and all other considerations other than cash flows.  

            a. When compared with Swap 1 in effect, when would it be a good idea to enter into Swap 2(April)?  Be specific in terms of Swap 1 contract terms.

            b. When compared with Swap 1 in effect, when would it be a good idea to enter into Swap 1a(April)?  Be specific in terms of Swap 1 contract terms.

15.  John Smith explained that the Client entered into a succession of Swap 2 contracts every three months.  Suppose that three such swaps are entered into on April 1, May 1, and June 1 of Year 1.  Refer to these as Swap 2(April), Swap 3(May), and Swap4(June).  In each case assume LIBOR = 4.0% APR.  Since only one such swap was needed to reverse Swap 1, the other two swaps might be speculation investments that LIBOR will on average rise above 6% over the swap contract periods.  However, even if the swaps eventually lose money, according to John Smith, the Client may have entered into the three swaps to front-load income at the long-run expense of losing money on the swaps.  Suppose that LIBOR remains at 4% from April 1 through June 30 and then rises by 0.10% at each month thereafter for six years (e.g., LIBOR is 4.00% on June 30 of Year 1, 4.10% on July 31 of Year 1, 4.20% on August 31 of Year 1, and so on until it reaches 11.20% on June 30 of Year 6).  

            a. .  Try to solve John Smith's "mystery" as to why the client entered into such advantagious swaps.

            b.  In the graph below, graph the net cash income and net loss pattern of Swap May for its entire five year term from May 1 of Year 1 through April 30 of Year 5.
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      c.  John Smith indicates that his firm made the Client defer and amortize Swap 2(April), Swap 3(May), and Swap 4(June) over the remaining life of the original loan that terminates on December 31 of Year 5.  What is the Payment 1 journal entry on November 30 of Year 1 for Swap May?
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